== A
N & o & AF & H A A
20158 & =04 LBHSI A KR =&t
A A=
d: U HolE delX&
&S Emis 2eal (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
A& &= 8kt 11,039,838 11,117,262 ANTT,424
= 72,000
< 14,400
Al 10,953,438
HEHJI=S MelX& 14,872 11,452 3,420
HEHII= 22 14,872 11,452 3,420
e mHIIE 2l 14,872 11,452 3,420
201 L2 | 14,200 10,780 3,420
01 At 22l 11,900 10,780 1,120
Ogt+&H| 10,220
—UHEHIESE HA EHFYH
100,000& 123 = 1CH x50% 600
—ZolEER 1,150
EE 50,000 *20H4 100
-l 70& %15,0000H 1,050
— HEHIISAEIHME 5,600& 1,200 6,720
—EHIISXNe 22 HH
703 *25,0000H 1,750
O=323% HA 1,680
—EgHoE Y E s M2
115,000 128 1,380
—HEHIIE HA =4S
25,000 =123 =1 CH 300
02 =224l 2,300 0 2,300
Ost=2HII28 3l 2,300
—st=HIISE3a Y3l 300,000 » 14! 300
—st=HJI=gza A3l 2,000,000& =14 2,000
202 odl 672 672 0
01 = LH YI 672 672 0
OUEHIIE ¢92 Mel 220l
56,000& x63] x2H 672
e W oz 3,668,816 3,369,513 299,303
= 72,000
< 14,400
Al 3,582,416
AJHX EAze| 3,643,905 3,350,473 293,432
= 72,000
< 14,400
Al 3,557,505
INIDN = E 908,091 850, 466 57,625
201 et 645,777 571,758 74,019
01 At 221l 82,230 81,772 458
Oget=&H| 82,230




SN =D
HH: e YL A

EHRlr AIJEX Eaztel (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
—RHEIHS SAHIEME 50,000 *4004 2,000
— MY REHEI AT M
30,000 =604 1,800
—SEH(4,FH)EE |18 ZHHE ME
200, 000& *5H 2 #23] 2,000
— AIJHR EAFEH 2 10,000, 000& »23] 20,000
— 20X E wH 50,000 *40HK 2,000
—EAXY ¥ FE=HA EAM 16,000
A 5,000, 000 2CH 10,000
- YEEA 100,000& »60CH 6,000
—EHAXY W LEEI 242
150, 0003 *3CH 200 2~ 900
— = R2Ar=E| 1,000,000& *33l 3,000
— YA =2 500,000 »20CH 10,000
— XM BEHTY WasR
20,0003 +x30=+122 7,200
—&HA8 23t 7L 400, 000& *20CH 8,000
—SAXE MYIl =A 7,878
Hy2s U ALE HEEZ CHEB
170,000 » 1CH 374 &= A 132l 6,630
Faow Y=EHE
8,000& 421 x3J0 &= A 133l 1,248
— 3R SHERIOY S22l
121,000& 128 1,452
02 =24l 563,547 489,986 73,561
O232= % HAl 38,670
— I3 RR EsH MIIRks
50,0003 *8I A +12& 4,800
—dEAXNEY 288 750,000 =334 24,750
—EA% BEMNERE S
130,000& #2101 23] 5,460
—HAX AN =2 30,000& *33CH 23l 1,980
—HAXY JFAXReAL Y=
140,000 128 1,680
O¢zHl 4,056
—HAXY Ul 4 KRIFH
1,690 «1CH*204 =120 4,056
ORHEI WEHE SI *EZ 2,700 »8000H 2,160
OXt& & B 518,661
— a3t =4 30,000 »50CH 1,500
— A3 FAXNE }H HE WS
3,000,000 =3CH 9,000
— LW FANY Bl wi
250,000 *3H =4 CH 123 *30% 10,800
—HAXY PEIHEF(4.5t, 3t LFEX)
10,000, 000& *3CH 30,000
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SM: R EED
e L Haael

CHRl: AIDJER E A2 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
—BAx B0l R Y
326,000 *33CH *6IH *50% 32,274
— AT sEI| MUF 120,000 *60% 7,200
—EAXY Xl 1,000,000 *33CH *80% 26,400
- AN SERE 42
1,000,000 *15CH 13| 15,000
—dAXE dA2H(SEUH)
1,690 x330H x224 *315L 386,487
202 o4 | 3,284 3,178 106
01 2Ll 3,284 3,178 106
OBASMH AMEX 22/0fH|
273,600 3% x4 3| 3,284
206 M = Hl 5,550 5,550 0
01 ME bl 5,550 5,550 0
OSEIFANY 22 Fazs 7Y
11,0002 *300 & 3,300
OFAXNE AsHE 2 15,000 x50= 750
OMY D BHEEA ASAHE 2
15,000€ x100= 1,500
301 Lete &3 10,980 24,980 A 14,000
11 J|EtE A= 10,980 24,980 A 14,000
OMYJl SYED| AMUZAIY S =5 XA
=(304 ) 600& x5&*3,000H 9,000
OMYIIZSHHNSE s 2 2T X3 1,980
— X2 990 x1, 00000 *1JH 2~ 990
- 9903 *50000 2K A~ 990
405 XHA&HF S HI 242,500 240,000 2,500
01 XA E B F S| 242,500 240,000 2,500
OogEetA ¢ 5,000,000< *5H4 25,000
ORHED ==I1Het 2 2,700,000 «5CH 13,500
O2AZ2(4.5t) BAXS 72 68,000,000 3CH 204,000
73 S& 23 413,788 364,759 49,029
201 2Bt | 413,788 364,759 49,029
01 AP 2t 2| H| 413,788 360,045 53,743
Ogbt4=24| 413,788
— M| SEH AZ2SEMHE 408,036
QorEsE 374,426
* 54 292 %164, 00004 4,756
* 104 362 *1,300,0000H 46,800
* 204 562 «2,170,0000H 121,520
* 304 832 *530,0000H 43,990
* 504 121 700, 00004 84,700




SN =D
HH: e YL A

EHRlr AIJEX Eaztel (&)
SA - BB B () - MM - BES Ol &t o San HmEET
* 750 1683 160, 0000H 26,880
* 1004 218& *210,0000H 45,780
-HAESE 5,760
* 104 38& *60,0000H 2,280
* 204 58& *60,0000H 3,480
SSESF 27,850
* 504 121& *50,0000H 6,050
* 1004 218& %100, 0000H 21,800
—BAIIBYH AASE MEH TY 248
375,150,000& * 1% 3,752
—MYIJIEEH AZE=F A8 B2 ZdidtE
50,0003 2001 2 1,000
—XRYIISEH AHSE AE EE JHI
NIES 20& +50,0000H 1,000
SASFHIIZ KNI 2,161,837 1,971,762 190,075
201 Let24d] 26,389 65,173 A 38,784
01 At 22/l 26,279 65,063 A 38,784
O+t 26,279
—SASRHIIES Zolths 222 HF
90& 15,0000 x23] 2,700
—SASFHIE SRES(2EFH) HA
223 *71,50000x12& 18,876
~CHNY SA2 2J (U2 S=LHE
) 170,000 104 x123] 2,040
~SASEHIIS 4TSY U WEE AT
29 &4l Fdul 2,063
aeg= 25,0003 11 275
Ot M S} 25,0002 11 275
A2 10,0002 11 110
ot 3 8,000& 11«15 1,320
a2 5003 x11H 15 83
—SASANXT W2 2FEI 242
150, 000 & »2CH 200 A 600
02 ZZ 2l 110 110 0
OZ2Z23 % HAl 10
~SASRHIIS £TSY U WS AT
dlE2E= 10,0002 11 110
202 04l 1,642 1,589 53
1T =2HA b 1,642 1,589 53
OSAMSFRHII= ANEAS & 3AEFIt 220
=l 273,600 x3H +23] 1,642
207 Ao 10,000 0 10,000
EEEE 10,000 0 10,000




2N =2
aQ

Hu: N Y AL
EHRlr AIJEX Eaztel (=& J)
. SfE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSMNEZRHIIZ +Te8 A9 &0 &7
29 10,000, 0003 * 14! 10,000
301 et a = 4,715 5,000 A 285
MIIEEd=S 4,715 5,000 A 285
OSAESRHIIS 22 24 N2 4,715
= 4, 7143 40000 =104 & 1,886
- 2 = 4, 7143 % 12000 *504 & 2,829
307 21201 A 2,019,591 1,900,000 119,591
05 RIZt2IEt = 2,019,591 1,900, 000 119,591
OsAERHIIE =828 & XMl €= 2,019,591
— =2 61,260 *21,000= 1,286,460
—Melllde==2 60,920 21,000 *1/2 639,660
— 3 SUA=NHEI NEXNE 2Z/AE
gl 7,789,170& x12& 93,471
405 XtAtE SHI 99,500 0 99,500
01 AR ESFH S 99,500 0 99,500
OSAMEFRHIIE+=NIE AT
99,500,000 = 1CH 99,500
AREHIIE ¥ A2AZ2 22 160,189 163,486 A3,297
= 72,000
= 14,400
Al 73,789
201 Let24d] 180 4,190 A 4,010
01 AtR el 180 1,220 1,040
o4 gl 180
QYL ANM 29 FECHE
9,000& 2 *103] 180
202 O4dl 2,259 2,206 53
01 = LH 4 Hi 2,259 2,206 53
OASEEIIS 2elPRFE 220t
273,600 x3H +23] 1,642
OSZQEESE JA2Z 220l
51,400 «1H » 123 617
301 gt L= 3,750 3,090 660
1MIIEBESS 3,750 3,090 660
O4AdIol FH=0 243 1,250,000 *3H 3,750
307 glz2+ol & 144,000 144,000 0
= 72,000
< 14,400
Al 57,600
02 HAFHAANHEEE 144,000 144,000 0
OZd0lE HMel NEAY BEXZ(508)
144,000,000& 14 144,000
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2N =2
aQ

M U L FHA2L
CHRl: AIDJER E A2 (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 72,000
= 14,400
Al 57,600
401 AlEHIZL £ 0HY| 10,000 10,000 0]
01 AlEH| 10,000 10,000 0
OAMEE SXHIIZS Heldl 5,000,000 =14l 5,000
Oln=4a =8 S#AHAH| 5,000, 000& » 14!l 5,000
Ao A MEs 24,911 19,040 5,871
N2z 22 21,911 16,040 5,871
201 £Et24 | 15,960 10,460 5,500
01 AP 2t 2| H| 10,460 9,740 720
Ogbt4=24| 10,460
—HoAUE A2 =2 600,000 x2 & 1,200
—Hy8Z2sS Scl+=HE 2 100,000 *50H 5,000
—MHESHER MIjotd2e] (&l =2
295,000 x12& 3,540
~THESHEE FIlMH BIIAMN ++2(45
Okw) 720,000 * 1A 720
02 Z2=2=24%4| 5,500 720 4,780
O2322 % HA 1,220
~WEES2AWE GUHE Ls 2HRI
2403 x3,0002H 720
—dYEHE 22X BEE2 500,000 13| 500
Od 24l 3,740
— SMEZX 2RI} =K
1,870 x10L*200 3,740
OXtgded] 540
— AEA 22X EH S
50,0002 x12& *90% 540
202 o4 H| 2,151 1,780 371
01 2L I 2,151 1,780 371
OoMeEsEel+H 42=8 2204l
273,600 2% x23| 1,095
ORIIE(HEZE HEX E) AE ™ 220
Hl 30,000 x2H x123] 720
OHEU=E 22)|2s =48 220
56,0003 22 *33] 336
307 2Iz2to| & 3,800 3,800 0
04 SIZ2HSHAAISHE E & 3,800 3,800 0
O=sMLISEEH A 3,800,000 » 14! 3,800
13|28 AIE2Y9H 3,000 3,000 0
201 LBt 9| 3,000 3,000 0
01 AP 22| d| 3,000 3,000 0




SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Ogt+2H| 3,000
— 13835 AMEYN 222 HE 3,000
PSR=ON 100& *10,0000H 1,000
AEIHA 200& =10, 0000H 2,000
HHSHHU (A=) 7,356,150 7,736,297 N 380, 147
olA2HYI (K& =8t 1) 7,284,567 7,664,846 A 380,279
ol (K& =st1t) 7,284,567 7,664,846 A 380,279
101 @1 21| 7,284,567 7,664,846 A 380,279
01 B 103,016 103,016 0
OAJIX B4 XNa gU224g
68, 1323 6L x21H x12& 103,016
03 RIAHAEZZRE 7,181,551 7,561,830 A 380,279
O3 a2 7,181,551
-Je23 1,950,000 x161H x12& 3,767,400
—E=2 900,000& x161H +x12& 1,738,800
orzt=2 2 110,000 x161H 128 212,520
- X84 1,160,000& *161H *23] 373,520
— D2 At 124,230& *161H 10 200,011
—ItEs4 90,000 *161H x12& 173,880
— sl =& 80,000& 161 *43| 51,520
— 5222 125,000&*161H +x0.6L x12& 144,900
—SH S A AIZA2 R
16,500& *4 Al 2t+x50H *303] 99,000
— &&3 140,000, 000& *3H 420,000
JI23 8l (K =stn) 71,583 71,451 132
Jl2 A3 (KA =2g) 71,583 71,451 132
201 Bt A | 16,443 16,443 0
01 AP 22l Yl 16,443 16,443 0
Odet+=gH| 10,143
—JI23A2ESH| 150, 0002 * 14 150
—JIS2ARE S| 100,000& *15H 1,500
—=SAMEX P2 (A4) 20,000 =108 A x12& 2,400
—SAD 2z 330,000& *1CHx123] 3,960
— T2 & ALY A2
237,000 *3CH *33] 2,133
O3 &l 7,000& x 15 53|« 12& 6,300
202 04| 51,144 51,012 132
01 2LHOHI 51,144 51,012 132
Oz 2 GRFX 2UHAYI 47,040
— =g 2 g2 2ol
20,0003 15 »83| x12& 28,800
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AN A=
M HE2G Y (KB =2
¢ D2 (MR =&
x 5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o e
—EAXY 2HEIIAL 2L K HI
10,0003 «19H «83| «12& 18,240
ONgag ALEX 22 0fH|
273,600 x3H 53] 4,104
203 YR =&t 3,996 3,996
04 FN2ELRZ=TH| 3,996 3,996
OX& =gt 370,000& = 12& x90% 3,996




